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marked. (Note that the markcd transitions only give the mdxca[cd reward if the actio eeds in moving the agcnt in that duvccuon
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(a) MDP (10 pts) Give the MDP for this domain only for the state transitions starting from each of the states in the top row, by filling in a state-action-state
transition table (showing only the state transitions with non-zero pro ' ty) You should refer to each state by its row and column index, so the upper left stal
[1,1] and the lower right state is [2,4]. _\_

To get you started, here are the first few lines of the table: LK + \‘l k l ‘ 7) *( \> x
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(b) Value function (15 pts) Supposc thc agent follows a randomized policy 7t (where cach available action in any given state has equal probability) and uses

L -] nur - LS | T - L2 _x 2 - =Y 110 32X N - — - . | L ok & B - =21 . | a8

00001.csv = = SRAIS.docx = - PRR.docx = -~ DRIF Budget and Jus....docx ~ # Sho




